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o P I F T [ 5 J7-9H § GRT g5 8 7o 497 40 &

Please make sure that the printed pages in this question paper are 8 in number and
it contains 40 questions.
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o U97-yF F e & # Gliv /9 T8 Fe TV % 5H FTA-YRaw H JEI-gT g7 @)

The Code No. on the right side of the question paper should be written by the
candidate on the front page of the answer-book.

o FYF J9T FH TV [0GT J& VT G Yew, 9T H BB AT [

Before beginning to answer a question, its Serial Number must be written.
o FUT-YiTHE & i H @l G,/ 9 7 881

Don’t leave blank page/pages in your answer-book.

o FUCYTHE F FaRkET 25 o e T& Al o savamagar & fhid st fiar gav 7
#Ie)

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o Gl Sy U To FIT-YH U Fasq i@ Ud do & SaRFT Je7-9H T o 8 H 7
ford siit 3wy g95t & GOl U7 [T FHT F I T T

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o U o7 % FuT 37 @ Y9 98 GAeEq T o [ G97-v4 {7 T @@ & Gher % ST 54
T § g 4 @ w@hwre T I am
Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after
examination.

qe : (i) 39T F F7T 40 F97 & o G @ISl - O, ‘T, T T T H FvET &
This question-paper consists of 40 questions which are divided into four
Sections : 'A', 'B', 'C' & 'D'.

(i) [ESTFE @ @vel @ 7 & Fav &y

Attempt questions from all sections as per instructions.

[m] <[]
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gus - o
SECTION - A
(S I us)

(Long Answer Type Questions)

e e fl7ue (19 3) Ru T &, 5 G H STWIAME, T0F B 6 3% &
6x2=12

In this section there are three questions (1 to 3), out of these only two are to

be answered, each carries 6 marks.

1. @8 & 9} & ffen @ @ & -9 7% ¢ ? 5% ade & R § Sl

Write about the types of fertilizers used, what are their methods of application

and explain about each method ?
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T (THIHTOT) T YSreT R R P I T § Feerdd qu dEieied Hie MEEer &
s & a) & o R

What is integrated pest management ? Write about cultural and biological pest
controls.

. Ui 399 U9 IAMI & Goilg gohi & I H g8y § o

Write in brief about the living components of landscape and gardens.
qls - §
SECTION - B
(g Suda ue )

(Short Answer Type Questions)

2 gs | g e (49 8) R M ¥, el v w U I E, uSw @ 3 3% F

In this section, there are five questions (4 to 8), out of these only four are to be

answered, each carries 3 marks. 4x3=12
T A (T, TE) & T B GAE B @ [ - faegell @ e @ S @ ?
o Rrg 3 AR 7 e

What are the points to be considered in selection of sites for lawns ? Write about
each point. EEE

E .

TeEae! Gl BT I Sfiad B @ SMEN X el & aR | Jargd|
Tell about the classification ornamental plants on the basis of their life span.

O B a0 & ? -8 HRD Giohd AU Bl YA B & AR AhT U P e
i faRau

What are the communication skills ? Which are the factors affect the active
listening and also write the stages of active listening ?

. Wl & fog g+l ofasEE dw@l & TW foRee Rk dret § a &t @ e § 7

Name all the elements required by plants and also tell the role of water in
plants.

Ta (%) &1 2 IR 6 U e TR BT AR ? WERIH® SREHT T & S

ZHH AT @ B JhD FT & 7

What is stress and how to manage it ? What is positive attitude and what are the
techniques to maintain ?
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qUs — |
SECTION - C

(srforrg ST ue)

(Very Short Answer Type Questions)

Ae: WESH GTUH OJ15) W WE FHE EATRIMATDE S 23FH I 6x2=12

10.

11.

12.

13.

14.

15.

In this section, there are seven questions (9 to 15), out of these only six are to
be answered, each carries 2 marks.

e @1 SF-T1 qle o1fie Iepse (Tffrde) R ofX &t ?
Which method of irrigation is more efficient and why ?

T SHR N F F1-FT e & ?

Which are the signs of diseased plants ?

I T B IS F - 9 B T [THRAT GEHR O W T E P W SaRd

Name the insects and diseases in case of lawns maintenance.
M FE & SH-HH-9 i (9 fafdT) ge% 2 § ?

Which are the non living components of gardens ?

[m] <[]
E“-

PR o ard N Sl F1-1 Hedl & 7

What is importance of climbing plants ?

Th 96 I B A e § ?

Name the qualities of successful entrepreneurs.
ghamn & FB et 7§ e & $RO 9fF[ 9 AR S @ © e @ o?
Ground water due to irrigation is going down in some districts of Haryana and why so ?
qls -
SECTION - D

(aEgfrs 9%)

(Objective Type Questions)

dle : 39 @ ¥ g=fig U (16 ¥ 40) Ru v ¥, 5= &sfm usil & S &, U0 & 1 97
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B S & A T F I 24x1=24

In this section, there are twenty five questions (16 to 40), out of these twenty four
are to be answered, each carries 1 mark. Answer only as right or wrong.
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17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.
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The cake of non edible oil is extracted from .............. .

R o & 91 @6 3 B BRI FEarl 2l

Application of fertilizers with irrigation water is called .............. .

R (IFF) R R % forw IwrT 2l

Basin method of irrigation is suitable for .............. .

Igd BIC SA] SN A § TE BN A, B .o FEd o

Tiny insects not easily detected are called .............. .

I B R B A A FH A FEd B

Covering of soil with grass or straw is known as .............. .

Rt MY q <&l a1 Sodt ST B BE B oo Hed 2

Technique of removing of twigs, branches or shoots is called ............

A A T () B T T A B A B 7

............. is the quickest method of lawn estabalishment.

T TH THE Bl o 2l

Fern is a type of .............. .
O 0]

E .

A sender gives message to .............. .
TS AT AR B oo, T ST B

Capital letters are used in the .............. of a sentence.

.............. qfaehdr gReT STl Bl B
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R & IR T
(A) Q& T I B [T T A B
(B) ¥ & FH R &N & [T w1 A B
(C) ®Ed Pl T8l YSER & [T T A &l
(D) I Tl B T TR S 2

Fertilizers are applied mainly :
(A) to supply nutrients to plants (B) to correct deficiencies in plants
(C) for proper growth of crops (D) all the above

el W A a9t &l & 98f WE H H9 S A & 7

(A) AFYT & & (B) AMYA & T
(C) HFMEA | Ted (D) SR | & &5 el
In heavy rainfall areas, manures are applied :
(A) after monsoon (B) during monsoon
(C) before monsoon (D) none of the above
O 0]
E5a-

s G § F2l T AR o 7

(A) @ H (B) Wl W

() =g (D) al T
Root knots are found in a plant in :

(A) stem (B) leaves

(C) roots (D) flowers
q 9% § M B

(A) ST {FebreTT (B) & e
(C) fBewE HET (D) & AT
Tillage operation covers :

(A) threshing (B) harvesting
(C) spraying (D) plowing
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37.
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qeh A1 S H G T
(A) H9T ® (B) foeita
(C) &M & (D) =@ H T 3
Fountain in garden or park is :
(A) living (B) non living
(C) path (D) wused for walk
el (%) B AT fpee forg fpar siman & 7
(A) FeR & R (B) wE fgdd & R
(C) ©d S & fg (D) SR | & &5 ot T8
Secateurs is used for :
(A) cutting (B) spraying
(C) plowing (D) none of the above
“To Ed B 6 & 39 a9 | &l @l qedn]
(A) = (B) &= ©d W@
(C) ©F @ (D) e

O 0]

E5a-

Indentify the subject in the sentence " The children played football" :

(A) children (B) children played

(C) played (D) football

WY H A T » g § JeaE (TEAE! feHeiEx) B FREE ¢ % U w@r S
ey :

(A) & 9 qd BT (B) IHI AYEGE & H @M BT

(C) ITH SATHALATT ST (D) SWE | § o

Ramesh is holding her sister to overcome personality disorder. what he should
do ?

(A) talk to her sister

(B) engage her in her hobby

(C) help her to build her confidence

(D) All the above

P.T.0O.

Downloaded from cclchapter.com



(8) 243
38. el a &1 WWifhd A & T FYR B B fic W HHF-71 g7 &G =Mfey ?

(A) F + (B) I + oMK

© & +3 (D) R + T

Which is the short cut key to underline text in a spread sheet ?
(A) Ctrl+b B) Ctrl+1i

(C) Ctrl+u (D) Ctrl +1

39. TM TF 93 &l §FH W UF &off & &0 § 94 @R § & F & HQ HO 8 a1 a8

7
() e B) Red W #& F ar
(C) oI (D) TH HAFIMW BT
E3E
[T

Ram tries new idea as a tailor in a garment shop, is he a/an :

(A) entrepreneur (B) wage employed person
(C) laborer (D) unskilled worker

40. HF-4T 3| FA (B4 ifa) 7&f ® ?
(A) = T F IR (B) HA1S & AERT FART HIAT
(C) %S & ARF-T&H (D) IAEE & HrEH

Which is not the green job ?
(A) Green house gas emission (B) Reuse scrap material
(C) waste exchange (D) transportation means
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